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Answers

1. 13

2. 57

3. 16

4. 24

5. 79

6. 24

7. 56

8. 16

9. 37

10. 35

Solve each problem.

1) A company was offering a special on cell phones for $3 each. But only if
you spent 5 dollars a month for 2 months. How much would it end up
costing you total if you bought 1 phone?

5×2=10
10+3=13

2) A pet store sold 9 kittens and 1 puppy over the weekend. The kittens sold
for $6 each and the puppy sold for $3. How much money did they earn
from selling the pets?

9×6=54
54+3=57

3) A baker made 2 batches of chocolate chip cookies. Each batch had 5
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×5=10
10+6=16

4) A clothing company used 9 buttons on jeans and 5 buttons on shirts. If
they made 3 shirts and 1 pair of jeans how many buttons would they use
total?

5×3=15
15+9=24

5) A malt shop used 8 ounces of chocolate syrup in their shakes and 7
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

8×9=72
72+7=79

6) Tom had 3 boxes of toys. Each box had 5 toys. Later Tom bought 9 more
toys. How many toys did he have total?

3×5=15
15+9=24

7) It takes 6 ounces of cheese to make a burrito and 2 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+2=56

8) Mike spent $6 on a board game and then he bought 5 action figures for $2
each. How much money did he spend on the game and figures?

5×2=10
10+6=16

9) At a comic convention Emily wanted to buy 6 comics, but each one costs
5 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

6×5=30
30+7=37

10) Before lunch a waitress had already earned $8 in tips. After lunch she had
9 customers and each customer gave her a 3 dollar tip. How much money
did she earn total?

9×3=27
27+8=35
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1) A company was offering a special on cell phones for $3 each. But only if
you spent 5 dollars a month for 2 months. How much would it end up
costing you total if you bought 1 phone?

5×2=10
10+3=13

2) A pet store sold 9 kittens and 1 puppy over the weekend. The kittens sold
for $6 each and the puppy sold for $3. How much money did they earn
from selling the pets?

9×6=54
54+3=57

3) A baker made 2 batches of chocolate chip cookies. Each batch had 5
cookies in it. Then he made an additional 6 oatmeal cookies just in case
someone didn't want chocolate chip. How many cookies did he bake
total?

2×5=10
10+6=16

4) A clothing company used 9 buttons on jeans and 5 buttons on shirts. If
they made 3 shirts and 1 pair of jeans how many buttons would they use
total?

5×3=15
15+9=24

5) A malt shop used 8 ounces of chocolate syrup in their shakes and 7
ounces of syrup on their cones. If they sold 9 shakes and 1 cone, how
many ounces of chocolate would they use total?

8×9=72
72+7=79

6) Tom had 3 boxes of toys. Each box had 5 toys. Later Tom bought 9 more
toys. How many toys did he have total?

3×5=15
15+9=24

7) It takes 6 ounces of cheese to make a burrito and 2 ounces for a taco. If
you wanted 9 burritos and 1 taco how many ounces of cheese would you
need?

9×6=54
54+2=56

8) Mike spent $6 on a board game and then he bought 5 action figures for $2
each. How much money did he spend on the game and figures?

5×2=10
10+6=16
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